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18819 [504% Bt e L) HY (BETIERWL) 3A31H ) E=vad=|

18820 |10 |Z 1% ER™ SEREIR 3A31H HY (HE - REMERLD %L

18821 [304% peq L ERT HY (BETIEARW) 3A30H HY (BB - REMEKLD) E=van=|

18822  |404% Eegc BRREREN HY (BETEAEW) 3A28H HY Eyan=1|

18823 |10m%kim | Btk B RRERREN FERER 3A31H HY (BB - REMEKTO) L

18824  |404% Legc BRREREN HY (BETEAEW) 38298 HY A
18825 [104% Bt B RREREN HY (BETIEARW) 3A30H HY L

18826  [304% peq L ZSplkii) HY (BETIEARWL) 3A822AH ) NR— k&< —
18827 |104% peq L KD ET HY (BETHEARL) 3B27H HY L

18828 |104% S KT HY (BETEAEW) 38198 HY) L

18829 |10m%kim | Btk KD ET HY (BETHEARWL) 3A23H HY L

18830 [304% peq L ZSplkii) HY (BETIEARWL) 3A31H ) EilzN:d=]
18831 |l0m%kim |zt KD ET HY (BETHEARWL) 3A31H HY L

18832 |204% S BRREREN HY (BETHEWL) 3A31H - E=yan=|

18833  [304% Bt B RREREN HY (BETHL) 3A30H - E=van=|

18834 [304% S BRREMEN HY (BETHW) 3A29A - AL
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18835 [104% peq L SRR AT HY (BETHL) 3A30H - L
18836 [304% peq L $K R AT HY (BEETHL) 3A30H ) NR— k&< —
18837 |l0m&kim | Btk B RRERREN HY (BETHL) 3A31H - L
18838 |10f% peq L BRREMEN HY (BETIEARWL) 3A30H ) AL
18839 [104% peq L B RRERREN HY (BETIEARW) 4A1H - AL
18840 |10k (B BRREREN HY (BETEAEW) 4B1H - L
18841 |10m%kim | Btk KD ET HY (BETEARL) 3A31H HY L
18842 |10mkim (B SR AT HY (BETEAEW) 4B1H - L
18843  [304% Bt KD ET HY (BETHEARL) 3A31H - E=van=|
18844 |104% S SR ET HY (BETEAEW) 3A31H - L
18845  [504% Bt NIEFH HY (BETIEARW) 3A30H - E=van=|
18846 |10mAim |ZME IR HY (BETEAEW) 4B1H HY (HE - REMBEHKALL L
18847 |404% peq L SRR AT HY (BETHEARL) 3A31H HY (BB - REMEKTO) NS
18848 [304% S BRREMEN HY (BETIEARWL) 3A28A - E=vad—|
18849 [104% Bt EIRT HY (BETIEARW) 4A1H - AL
18850 [304% S R FERER 3A29H HY SilzNas]
18851 [204% Bt B RRERREN HY (BETEARW) 4A1H - E=van=|
18852 |104% S KT HY (BETEAEW) 3A31H - L
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18853  [204% Bt e L) HY (FEETIEAW) 3A30H ) E=vad=|
18854  |404% Legc IR HY (BETEAEW) 3H28H - E=yan=|
18855 |10/ |Z % BRREFTEN IR 481H HY) 3L
18856 |601% Bk BRREERN HY (EIETIEAEW) 3B27H HY =ft8
18857 [301% pegis BRREFTEN HY (BETIEEW) 3H30H HY) SifzNi9=]
18858 |601% geqc3 EIRT HY (BEETIEARW) 3A29AH ) Eevan=|
18859  [401% S BRREFTEN HY (BETEEW) 481H HY) E=gan |
18860 |304% ik SRR HT HY (EFETIEHRL) 3A30H o) BilZ:A=]
18861 [104% Bt SRR AT HY (BETEARW) 3A31H &) L
18862 [501% ik BRREERN HY (EIETIEAEW) 3829H HY) A N
18863 |10/ |Z% FRAT HY (BETIEAEW) 481H HY (HE - REMEX63) 5L
18864 |204% S SR AT HY (BETEAEW) 4B1H HY Eyan=1|
18865 [601% S S\ HY (BETIEEW) 3A31H HY (EnEmER24) SifzNig=]
18866 [501% ik PEBRIEFTE N HY (EIETIEAEW) 3B27H - BEx
18867 [401% pegis REBRIEFTEN HY (BETEEW) 3H29H HY) E=gan |
18868  |401% geqc3 5[ l=ns} HY (BEETIEARW) 3A30H &) ey
18869 |10m%kim | Btk Em HY (BETEARW) 3A30H - L
18870 |30f% St FERREERTE N HY (BETEAEW) 3A31H HY (RR—VEELG) 248
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18871 [304% peqi3 Em HY (BETIEARW) 4A1H - A
18872 |204% Legc t&E™ HY (BETEAEW) 3A31H - E=yan=|
18873 |10imA0H |2tk tEmm HY (BETIEAEW) 3H28H HY (B - REERTL) 5L
18874 |10mkiE (B bk HY (BETEAEW) 3A29H HY (HE - REMBHKIT) L
18875 |10m%A&um |31% el ) HY (BETIEEW) 3H30H HY 7% L
18876 |204% 7 =l HY (BETEAEW) 4B1H HY (HE - REMBKIT) SilzN: =]
18877 |304% gegca el ) HY (EFETIEHRL) 3830H &HY) B NS
18878 |301% Bk &M HY (EIETIEAEW) 3A31H - =B
18879 [204% Bt Em HY (BETEARW) 3A31H ) E=vad=|
18880 |10/ |SB1% HEMREEFTE W HY (EIETIEAEW) 3A30H HY) 5L
18881 |10 |Zi% HREBRIEFTEN HY (BETIEAEW) 3H30H HY 5L
18882  |404% S HEMREEFTE W HY (BETEAEW) 3A31H HY N
18883 [101% pegis REBRIEFTEN HY (BETIEEW) 3A31H HY 5L
18884 [301% i vt HY (EFETIEHRL) 3A30H - SifzNizg=]
18885 [104% Bt s[5 HY (BETIEARW) 3A31H ) E=vad=|
18886 |10 |1k vt HY (EFETIEHRL) 3HA31H o) 7wl
18887 |10 |B 1k REBRIEFTEN HY (BETIEEW) 481H HY) 5L
18888 |20f% B4 = | laly o} HY (BETEAEW) 3A31H HY (RR—VEELG) 248
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18889 [204% peq L AR AT E N HY (BETIEARW) 4A1H - E=van=|

18890 |20f% peq L AR EEATE N HY (BETIEARWL) 3A31H ) Eevan=|

18891 [204% Bt S|l HY (BETHEARL) 3A31H - E=van=|

18892 |104% Legc HEMREEFTE W HY (BETEAEW) 3A30H HY L

18893 [104% peq L AR AT E N HY (BETIEARW) 3A30H Hl) (ZKE—VEH16) L

18894 |104% B =l HY (BETEAEW) 4B1H - L

18895 |10mAum | B el ) HY (BETEEW) 3A31H HY (RKR—VESN16) %L

18896 [301% pegis ttm HY (EIETIEAEW) 3829H HY (HE - REMEXTL) E=yan—|

18897 [104% peqi3 Em HY (BETHEARL) 3A28H - L

18898 |10/ |14k jttm HY (EFETIERL) 3A31H o) 7wl

18899  [601% Bt AR AT E N HY (BETIEARW) 3A31H - E=van=|

18900 |10 |Z 1% &M HY (EIETIEAEW) 3H28H HY 7% L

18901 [l0m%kim |zt F( =i HY (BETEARW) 3829H HY L

18902 |104% B bk HY (BETEAEW) 3A30H HY L

18903 [104% Bt F( =i HY (BETIEARW) 3A826H HY L

18904  [504% peq L AR EATE N HY (BETIEARWL) 3A28H - NR— & A< —
18905 |10mAum |SB1% el ) HY (EFETIEHRL) 4R1H »H) mL

18906 |10/ |Z 1% vt HY (EFETIEHRL) 3A31H o) 7wl
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18907 |601% pegis &M HY (BETIEEW) 481H HY) E=gan=|

18908 [101% B jttm HY (EFETIEERL) 4H1H - L

18909 [501% S &M HY (BETIEAEW) 3H30H HY) R

18910 [501% Bk HEMREEFTE W HY (EIETIEAEW) 3A30H - =B

18911  [304% Bt Em HY (BETIEARW) 3A31H ) E=vad=|

18912 |204% Legc HEMREEFTE W HY (BETEAEW) 3A26H HY (HE - REMBEKTL) SilzN: =]
18913 |10m 4 (%% REBRIEFTEN HY (BETEEW) 3H30H - 7L

18914 |104% Legc t&E™ HY (BETEAEW) 3A30H HY Eyan=1|

18915 [201% pegis &M HY (BETIEEW) 3H28H HY) E=gan=|

18916 |30f% B4 = | laly o} HY (BETEAEW) 3A30H HY (RR—VEELG) 248

18917 |204% % el ) HY (EFETIEHRL) 3830H &HY) =ft8

18918 [801% ik ®Em HY (EFETIEHRL) 3A30H o) 7wl

18919 [304% peqi3 Em HY (BETEARW) 3A826H HY NR— b & A< —
18920 |204% S HEMREEFTE W HY (BETEAEW) 3A29H HY Eyan=1|

18921  |404% Bt s[5 HY (BETIEARW) 3A31H ) E=vad=|

18922 |10k B t&E™ HY (BETEAEW) 3828H HY) L

18923 |304% % el ) HY (EFETIEHRL) 3A30H &HY) N 3=

18924 |204% S Lsm IR 3A31H HY RNBE
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18925 [104% peq L %QE% g2t HY (BETEARL) 3A29H HY L
18926 |204% S t&E™ HY (BETEAEW) 38298 HY) 5L
18927 [304% Bt AR AT E N HY (BETIEARW) 3829H ) E=vad=|
18928 |104% S t&E™ HY (BETEAEW) 4B1H HY L
18929 [104% Bt Em HY (BETHEARWL) 3829H HY L
18930 [101% 7 jttm HY (EFETIERL) 4H1H HY (B REEXRTT) 7wl
18931 [204% peq L ENRERTE X HY (BETEARL) 4A1H HY (SimEE%23) BileS:a=]
18932 |10k |ZME BN IR 4B1H HY L
18933  [304% peq L ENRERTE X HY (BETHEARL) 3A31H - L
18934 |104% S BN HY (BETEAEW) 3A31H HY 5L
18935 [90mEM E |ZiE BNRERTE X HY (BETHEARL) 3A31H HY (SiEHE%25) #L
18936 |10#%KiH |BH B HY (BETIEARWL) 4A1H - AL
18937 |504% pegis BINREFTEN HY (EFETIEHRL) 3831H HY (RR—VEEIL5) N—hR—~v—
18938  |40f% S BN REFTE N HY (BETIEARWL) 4828 - £it8
18939 [504% Bt B3 HY (BETHEAWL) 4A1H - AL
18940  |404% Legc BINREEFTEA HY (BETEAEW) 4828 HY Eyan=|
18941 |10m%kim |zt ENRERTE N HY (BETHEAWL) 4A2H ) L
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18942 |404% Bt ENRERTE X HY (BETHEARL) 4A1H ) E=vad=|
18943 |104% Eegc BINREEFTEA HY (BETEAEW) 4B1H HY L
18944 |704% peq L B HY (BETEARL) 4A1H ) BEZ
18945  |404% S BN HY (BETEAEW) 4B1H HY N
18946 |704% peq L B3 HY (BETHEAWL) 4A1H ) L
18947  |404% Legc BN IR 4828 HY Eyan=|
18948  |404% Bt B3 FERER 4A2H Y E=vad=|
18949  [90mE M £ |ZcitE BRNREFTE N HY (BETIEARWL) 4A1H HY (BEEHE25) AL
18950 [604% Bt ENRERTE N HY (BETHEAWL) 4A1H HY (SiEHE%25) #L
18951 |204% S BN HY (BETEAEW) 3A31H - SilzN:g=]
18952  |404% Bt B3 HY (BETEARWL) 3A30H - E=van=|
18953 [601% Bk BN HY (EFETIEHRL) 4H1H - =ft8
18954  |404% Bt B3 HY (BETHEARL) 4A1H - E=van=|
18955 [101% ik BN HY (EFETIEHRL) 3A31H o) 7wl
18956 |304% pegis BN HY (EFETIEHRL) 3830H - SilZNi3=]
18957  |404% S BN HY (BETEAEW) 4828 HY Eyan=1|
18958  |404% Bk B3 HY (BETHEARWL) 4A1H ) E=vad=|
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18959  [10m%kim |Zitk B HY (BETIEARLW) 4A1H ) L

18960 [601% Bk BN HY (EFETIEHRL) 4H1H o) BEZ%

18961 [304% Bt —Rah HY (BETIEARW) 3A30H ) HE¥

18962 [304% peq L —Bm HY (BETIEARLW) 3A31R &) L

18963 |10m%kim | Btk —Rdh HY (BETIEARW) 3829H &) L

18964 |10k (B —Eh HY (BETEAEW) 3A31H HY 5L

18965 [104% Bt —Rdh HY (BETIEARW) 3A31H Hl) (ZKE—VEHIH) L

18966 [104% St —Bam HY (BETEAEW) 4818 HY (RR—VEED) L

18967 [104% Bt —Rdh HY (BETIEARW) 4A1RH Hl) (ZKE—VEHIH) L

18968 [204% St —Bam HY (BETEAEW) 4818 HY (RR—VEED) BilzNtd=]
18969 [104% S —BEAREFEN HY (BETIEEW) 481H HY) 5L

18970 |10k (B —Eh HY (BETEAEW) 4B1H HY 5L

18971 [401% S —E™ IR 482H HY) E=gan=|

18972  [404% St —BI™ HY (BETEAEW) 3A30H HY (RR—VEE3) 248

18973 |404% pegis —Bm HY (EFETIEHRL) 3830H HY (RR—VEEIL3I) W= h&A~—
18974 |10mkiE (B —Eh HY (BETEAEW) 4B1H HY 5L

18975 [201% pegis —Bm HY (BETIEEW) 3H29H - E=gan=|
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18976 |501% S —Bm HY (BETIEEW) 482H HY) E=gan |
18977 404X Eegc —Eh HY (BETEAEW) 3A30H - E=yan=|
18978  [204% Bt —BgmH HY (BETIEARW) 3A30H ) E=vad=|
18979 |204% S —Eh HY (BETEAEW) 4B1H HY Eyan=1|
18980 [204% Bt —BgmH HY (BETIEARW) 4A1H ) E=vad=|
18981 |10mAi (%1% —Eh HY (BETEAEW) 3A31H HY (HE - REMBKTL) L
18982 [104% Bt =i HY (BETIEARW) 4A1H ) L
18983 [804% peq L ARIREFTE N HY (BETIEARWL) 4A1H ) B L
18984 [104% Bt AFEH HY (BETIEARW) 3A31H HY L
18985 |10 |Z 1% ARREFTEN HY (EIETIEAEW) 3824H HY 5L
18986 [801% pegis ARREFTEAN IR 481H HY) 5L
18987  [404% S AT HY (BETEAEW) 38268 HY (284 N8
18988  [301% S ARREFTEAN HY (BETIEEW) 3H30H HY) NI
18989 [301% ik ARREFTEN HY (EIETIEAEW) 4A1H HY) SifzN:=q=]
18990 |107% 4 |Z% ARREFTEAN HY (BETIEEW) 481H HY) 5L
18991 |10mAi |ZME ARREFTERN HY (BETEAEW) 4828 - L
18992 [804% peq L —F HY (EETIEAW) 4A1H Y L
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18993 |90mk L b | %4 —FHT HY (EETIEEW) 4A1R »HY L
18994 [201% Bl —Fw HY) (BETIZAWL) 481H »H) SHE
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